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MAT 145, Spring 2025 — D. Ivansié Covers: 7.4, 7.5 Show all your work!

1. (8pts) Without using the calculator, find the exact values (in radians) of the following
expressions. Draw the unit circle to help you.
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2. (Tpts) Find the exact value of the expressions (do not use the caleulator). For some of
them, you will need a picture.
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3. (5pts) Find the exact value of the expression (do not use the caleulator). Draw the
appropriate picture.
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4. (5pts) Solve the equation (give a general formula for all solutions).
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5. (5pts) Use your caleulator to solve the equation on Lhe interval [0%,360°) (answers in
degrees). A picture will help.

i ] ':l ’._ al - G. .'-‘ I:
'S'cf G Gar(GS {‘{*"-'\I 360 i {"-rﬂj'r T

= |07, 45?;;&;,“; Q52542397
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6. (10pts) Solve the equation and give a general formula for all solutions. Then list all the
solutions that fall in the interval [0, 27).
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7. (6pts) Solve the equation on the interval [0, 2x).
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8. (7pts) Solve the equation (give a general formula for all the Eulm’lii]gqs}' 4
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9. (Tpts) Find the exact value of the expression (do not use the calculator).
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